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Module Title  :  Business Research Methods
Portfolio Element 2
Name


:  <Please fill in your name as given in your student card>
GCU student No
:  <Please fill in your 9 digits student No>
Date of submission
:  <8 Aug 2007>
I declare that this coursework embodies the results of my own work and that it has been composed by myself.  Following normal academic conventions I have made due acknowledgement of the work of others.

Case Study
1.
Critically evaluate the research methodology in this study, highlighting the strengths and weaknesses of the proposed approach.  In your view, to what extent has the researcher taken these into account when planning the research ?
(10 marks)
<Please fill in your answer to this question here.>
2.
In your view, to what extent do you consider a case study appropriate for this type of research.
(10 marks)
<Please fill in your answer to this question here.>

Data Analysis using SPSS
1 Using a table show the minimum and maximum and average age of your sample.








         (1 mark)
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From the table,


Mean = 42.05 years old


Minimum age = 19 years old


Maximum age = 73 years old

2 In a Bar chart show what number of the sample was female?
         (1 mark)
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a. 


From the above bar chart the number of female in the sample is 178 nos.

3 Using a Pie chart to indicate how many respondents were married ?
(1 mark)
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From the pie chart 154 respondents were married.

4 What percentage of the respondents are between 41 and 50 years of age ?
(3 marks)
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From the frequency table, 25.1% of the respondents are between 41 and 50 years of age.

5 What percentage of the females earn more than £50k ?

       (2 marks)
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From the table above, percentage of females earning more than £50k is 38.8% (16.9% + 21.9%).
6 What number of the respondents have a postgraduate and undergraduate degree ?








       (2 marks)
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From the table above 14 respondents have a postgraduate and undergraduate degree.

7 Using a Chi-square test, interpret the results and comment on the difference (if any) between females and males in your sample in respect of income. Your analysis should include the crosstabs table and the chi-square table.

(10 marks)
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From a cursory exploration of the table above, Female gender generally earn more than the Male Gender across all income categories except for the £75K category.
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Statistically, from the Chi-Square table above, p = 0.392 > 0.05 (level of significance, α = 5%) ie there is no difference between Gender and Income.
8 Using a Chi-square test, interpret the results and comment on the relationship, if any, between income and education.  You should attempt to show that any relationship between these two variables is not influenced by any OTHER variable.  Your analysis should include the crosstabs table and the chi-square table.






     (10 marks)
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From the crosstabs table the income category – £25K to £49K is the mode category across all level of education.



From the chi-square table, p = 0.607 > 0.05 ie there is NO difference between income and level of education.  The level of income does not correspondent to the level of education.
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From the correlation table, Income and Level of Education are significantly correlated to Age ( r = 0.300 and -0.181 respectively)  then to each other.

In addition, Income is also significantly correlated to Job Satisfaction (r = 0.318).
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